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Subject Name: Refrigeration and Air conditioning
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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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State the applications of air-conditioning and explain what the difference
between air conditioning and air cooling is?
Explain regenerative system.

Explain the effects of following parameters on vapour compression
cycle.(a)evaporator pressure(b)condenser pressure(c)suction vapour super
heat(d)sub cooling.
Explain the construction and working of rotary or centrifugal compressor with
the help of neat sketch.

OR
In a vapour compression cycle vapour of F;, gas enters the compressor at 1 bar
and -30° C.it is compressed isentropic ally up to 9 bars. if 0.25 kg/s of Fi, s
circulated in the system, find (i) C.O.P.(ii)R.E. in TR (iii) bore and stroke of
compressor if compressor runs 300 rpm and L/D ratio is 1.2. assume

volumetric efficiency of compressor as 80% and as single acting compressor.

Explain the working of Electrolux system with the help of neat sketch.

Compare the vapour absorption system with vapour compression system.
OR

Explain how the refrigerents are designated.

State the properties of the following refrigerants.(a) R22(b) R134a(c) R717

State and explain in brief about the various loads in cold storage.
Why insulation is necessary? List the desirable properties of insulating
materials.

OR
A theatre of 1000 seating capacity is to be air conditioned for Summer
conditions with following data: (i) outdoor conditions : 30°C dbt ,50% RH (ii)
required inside condition :20°Cdbt ,60%RH (iii) amount of air supplied
:0.25m*/min/person. Find (i) sensible heat (ii) latent heat removed from air per
minute.(iii) sensible heat factor for the system.
Explain infiltration air load and mixing of fresh air and re circulated air using
diagrams.

State the difference between unitary system and central system of air
conditioning.
What is a packaged plant? Explain about the floor plenum for air distribution
system.

OR
Explain methods of detecting the leakage of Freon gases.
Explain the charging procedure for a refrigeration system with open type
COmpressor.
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